



1. Find the length of the curve  $y = \frac{1}{3}x^{3/2} - x^{1/2}$  on the interval  $[1, 4]$ .

$$L = \int_1^4 \sqrt{1 + (f'(x))^2} dx = \int_1^4 \sqrt{1 + \left(\frac{1}{2}x^{1/2} - \frac{1}{2}x^{-1/2}\right)^2} dx$$

$$= \int_1^4 \sqrt{1 + \left(\frac{1}{2}x^{1/2}\right)^2 - \frac{1}{2}x^{1/2} \frac{1}{2}x^{-1/2} - \frac{1}{2}x^{-1/2} \frac{1}{2}x^{1/2} + \left(-\frac{1}{2}x^{-1/2}\right)^2} dx$$

$$= \int_1^4 \sqrt{1 + \frac{x}{4} - \frac{1}{2} + \frac{1}{4x}} dx$$

$$= \int_1^4 \sqrt{\frac{x}{4} + \frac{1}{2} + \frac{1}{4x}} dx = \int_1^4 \sqrt{\left(\frac{\sqrt{x}}{2} + \frac{1}{2\sqrt{x}}\right)^2} dx$$

$$= \int_1^4 \frac{1}{2}x^{1/2} + \frac{1}{2}x^{-1/2} dx = \left[\frac{1}{3}x^{3/2} + x^{1/2}\right]_1^4$$

$$= \left[\frac{1}{3}\sqrt{x}^3 + \sqrt{x}\right]_1^4 = \left(\frac{1}{3}\sqrt{4}^3 + \sqrt{4}\right) - \left(\frac{1}{3}\sqrt{1} + \sqrt{1}\right)$$

$$= \frac{8}{3} + 2 - \frac{1}{3} - 1 = \frac{7}{3} + 1 = \boxed{\frac{10}{3} \text{ units}}$$

1. Find the length of the curve  $y = \frac{1}{2}(e^x + e^{-x})$  on the interval  $[-1, 1]$ .

$$\begin{aligned} L &= \int_{-1}^1 \sqrt{1 + (y')^2} \, dx = \int_{-1}^1 \sqrt{1 + \left(\frac{1}{2}(e^x - e^{-x})\right)^2} \, dx \\ &= \int_{-1}^1 \sqrt{1 + \frac{1}{4}((e^x)^2 - 2e^x e^{-x} + (e^{-x})^2)} \, dx \\ &= \int_{-1}^1 \sqrt{1 + \frac{1}{4}((e^x)^2 - 2 + (e^{-x})^2)} \, dx \\ &= \int_{-1}^1 \sqrt{\frac{4 + (e^x)^2 - 2 + (e^{-x})^2}{4}} \, dx \\ &= \int_{-1}^1 \sqrt{\frac{(e^x)^2 + 2 + (e^{-x})^2}{2}} \, dx \\ &= \frac{1}{2} \int_{-1}^1 \sqrt{(e^x + e^{-x})^2} \, dx = \frac{1}{2} \int_{-1}^1 e^x + e^{-x} \, dx \\ &= \frac{1}{2} \left[ e^x - e^{-x} \right]_{-1}^1 = \frac{1}{2} \left( (e^1 - e^{-1}) - (e^{-1} - e^1) \right) \\ &= \frac{1}{2} \left( 2e - \frac{2}{e} \right) = \boxed{e - \frac{1}{e} \text{ units}} \end{aligned}$$